CHAPTER IV

CONCLUSION

Based on my observation, the first cause of inattentive children in
vocabulary class at KIDS2SUCCESS is lack of sleep. The second cause
is the children of three to five years old have a very short attention span.
The third cause is the teacher is not creative in teaching the lesson.
Because the children are not attentive, they cannot understand the lesson
and cannot finish their work on time. And the solutions to the problem of
children being inattentive are the children should have enough sleep, the
teacher must be creative in teaching the lesson, besides the teacher can
give rewards to the children to make them attentive to the lesson.

From the solutions above, | choose to combine two best solutions
which have minimum negative effects to solve my problem. The
combination is the children should have enough sleep and the teacher
should be more creative in teaching the lesson. If the children have
enough sleep and the teacher is creative in teaching the lesson, the
children will be attentive to the lesson.

The third solution is a good solution, but this solution has many

negative effects. This solution will only make the children be more focused
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on the rewards rather than on the lessons; therefore, | do not choose this
solution.

In conclusion, to handle the children‘s inattentiveness in a vocabulary
class, we must know the causes why the children are inattentive in the
vocabulary class. From the causes, we can find the solutions. The best
solutions to make the children attentive in the vocabulary class are the
children should have enough sleep and the teacher should be more

creative in teaching the vocabulary lesson.
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